= a
N = 0 &8 AF S & Al A
20108 & =204 UBHS|IH AIBIEMNZ ~ AIRIEMZ
S ARES M
M BJENY =5 L 29
Sel: SN2 Al (&te @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
A E A2 5,610,685 579,986 5,030,699
=2 81,633
Al 5,529,052
ZEZTAHS 25 L 29 5,553,513 500,735 5,052,778
= 81,633
Al 5,471,880
CHZ2I9 WA s 421,613 493,335 AT1,722
2 57,633
Al 363,980
SR L HA2E 186,575 185,825 750
=2 57,633
Al 128,942
201 LEt2HH| 24,145 22,425 1,720
01 AtRZ2lH] 24,145 22,425 1,720
O1 Yeta=2H| 24,145
D= E== g el 10,0009 x40Z x 12& 4,800
DAERER2 14,0002 x 155+ 122 2,520
DEMIFIAZE(CHEITH A3F)
400,000 x45 1,600
DRFID HE3 RS 1,400 5, 0000H 7,000
>CDA 0l A 38024 %1, 00004 380
>E2MHE 2,200 * 10074 220
DEAESLE eI 121,000 «52 605
D>3AjtER = 70,0002 *36H 2,520
>EMQIAIZ RFIDE 900< *5, 0000H 4,500
202 OdH] 6,000 4,800 1,200
01 2o 6,000 4,800 1,200
OJ|1=2d2 430 H| 500,00024 * 122 6,000
405 KHAHE SH 156,430 158,600 A2,170
=2 57,633
Al 98,797
01 ALY SEFSH| 6,430 8,600 A2,170
OXat Y 2E FSH 6,430
D24 MIHEEHEZE AL
1,430,000 1K 1,430
> X2A AIHGHEZE AL
1,250,000 *4 4 5,000
02 = AP 150,000 150,000 0
Ot U OtSE A ¢ 100,000,000 *1A! 100,000
= 32,633
Al 67,367
ouxgzgx 1 40,0002 *5005 20,000
=2 10,000
Al 10,000




S ARES M
M BJENY 5 L 29
Sel: SN2 LAl (&te &=
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
OX K& e 30,0002 *1,0005 30,000
= 15,000
Al 15,000
UXEX2a 29 55,800 146,190 A90,390
201 LEI2HH| 55,800 49,340 6,460
01 AtRZ2lH] 2,540 2,540 0
O1 Yeta=2H| 2,540
D>EHAL S/W 20 0lE 500,000 x4 Al 2,000
DAURE PCEHAl T2 R
60,0002 x9A! 540
02 Z22ZH| 53,260 46,800 6,460
O1 2222 2 HAl 29,100
DOIHY MEFM(SEMRZ)
2,250,000 x 128 27,000
DRACIHYS2(SAR2Z) 140,000 «12& 1,680
D>SMS SAQL2(AHA, HAZAM)
35,0002 x12& 420
O3 A& ZH| |XIHI 24,160
DCOXEXNZ2A PCRAIH 100,000 *10CH 1,000
DLCIXE X2 A DVD-TV SXIHl 50,0002 *4CH 200
DCOXEAMH (RN 3T ) S X 24
650,000 * 122 7,800
DOXETZA S/WEEEA4ZT )R X 2 2=H|
250,000 » 122 3,000
DRFIDAIAEI S 24| (I 2EHDI21105
) 500,000 =122 6,000
DEMHOIX, CHZZ2I S B
300,000 122 3,600
DOolXo e T2 X2
130,000 * 122 1,560
DoIRo HEKI AIZZEH S
1,000,0002 * 14! 1,000
EAMAE S22 179,238 161,320 17,918
201 LEH2HH| 103,298 154,720 AB51,422
01 AFR22t2IH] 17,720 15,980 1,740
O1 Ygta=2H| 17,720
DOIZX BOEE MIB(EX,&A5H 5)
500,000 » 122 6,000
DI AAL CHEH 280,000 * 122 3,360
D=2D| =AY HI| 2AF 110,000 +122 1,320
DS AIDEA QR A AL 100,000 13 100
DOSO0IZAIZZIE SHBA
1,000,000 *13] 1,000
D&EI| HI|IZA 3 200,000 *13] 200




SN NBEAR
SN ZZEMB HE U oY
S EAZ2E Wast (98
SA - HB B9 (E) - NRAY - Ba S 0f et o e DS
DEANLEHYsE 130,000& 63! 780
PPSEENESEN 500,000& »23! 1,000
dotx 4 840,000& » 14! 840
PE=J 2UE 260,000 122 3,120
02 83224l 85,578 138,740 A53,162
O1 2223 2 HMA 48,392
PREQD(BLT ST o)
1,750« 1524128 315
DOISSANE(EEZ . TAME. BHNERY
3) 400,000 * 14! 400
PLUSRLRES(HS) 650,000& *13] 650
DEFNLRES(H2) 300,000& »23 600
DOFAAIDBI S A EE R (2 E)
67,000& 12 67
PAIIRS 3,200,000 x12& 38,400
Daote=R=3 580,000& «12& 6,960
PENZEIH(HI=H2EIHI225)
300,000% *35 900
DAt dE 3l 100,000& 12l 100
02 H =4 24,707
>E A 7973 x105L xBAI 2H+23& 15,399
DEAL S 550 3«60 #BA| 2Hx22 & 5,808
DI SHH 2,500,000 *12] 2,500
DY) (FCU) 2B &E A 1,000,0008 %13 1,000
O3 A2 &Hl =Xl 5,700
> 2 2(3,488m") 1,000,000& *13] 1,000
Dot MLl 1,000,000& » 14! 1,000
DR2EEZ KSAHI(OIHA) 1,000,000 14 1,000
>0l ol 24 = Xl 8l 1,200,000 » 14! 1,200
D> Al J X 700,000 * 14 700
D A& HIIZA 800,000& * 14 800
O4 Xt&det] 6,779
POISENZ MHERAL(SEUE)
6,778,590 » 1CH 6,779
202 044 3,600 3,600 0
01 2SI 3,600 3,600 0
OJl2gR=d0dtl 300,000& =12 3,600
206 W24 3,000 3,000 0
01 M=Hl 3,000 3,000 0
O&IIMZ 2,000,000 * 14 2,000
OJIHA 225 1,000,000 * 14 1,000
307 elztold 60,840 0 60,840




FA: ANEEAMS
Y DRCHB 2E U 29
ool SARSYO Has (el @R
SA-E . S(E) - MEAY - BES 01l &4 24 e SImE=ET
05 2IIRAE =S 60,840 0 60,840
OFAMN EA=9| 2,535,000 221« 128 60,840
401 Al EHIL 201 7,000 0 7,000
01 Al£Hl 7,000 0 7,000
OdZEx M 6,000,000 * 14! 6,000
LE: AYREES wAH 1,000,000& » 14! 1,000
405 XtobE SHI 1,500 0 1,500
01 ML ESF=H 1,500 0 1,500
O &4 €X 500,000& +3CH 1,500
FtUsEZNHE2H 9,400 7,400 2,000
SEMS € SatEA 2,000 2,000 0
201 LEH2HH| 2,000 2,000 0
03 HAI2SHI 2,000 2,000 0
O=AMa & ZoteM =4 2,000, 0002 14 2,000
SENEEUY 29 2,200 2,200 0
201 etE&l 2,200 2,200 0
03 A2 HI 2,200 2,200 0
O=sA=zstus 2,200,000 * 14| 2,200
M0 ¥ s AE 3,200 3,200 0
201 et 3,200 3,200 0
03 A2 HI 3,200 3,200 0
OgMeI & s32¢3  3,200,000& * 14! 3,200
SAEE Z20Y 2 2,000 0 2,000
201 LEH2HH| 2,000 0 2,000
03 A2 S HI 2,000 0 2,000
O EARE E208 2¢ 2,000, 000& =14 2,000
ANEEMZ A= 5,000,000 0 5,000,000
AN SLEH2 AF(THA) 5,000,000 0 5,000,000
401 AIEHIZ 208 5,000,000 0 5,000,000
01 Al&H| 5,000,000 0 5,000,000
OEM2 M=2X i 5,000,000,000 141 5,000,000
SA2Eds X 122,500 0 122,500
= 24,000
Al 98,500
A2z X 24,500 0 24,500
307 2120l & 24,500 0 24,500
02 2lta3aEx 20,500 0 20,500




SN
X XH .
S Tt

el

=
DEND HE U 2Y
M2t sst X2

. , . rsJEL= -
M- F2 SR (3) - HIRAY - B e arey e {imE=Eh
O&X2EM2 T K&
20,000, 0003 14 20,000
Oxsd2 281 500,000& *13! 500
04 QIZtHALE X 4,000 0 4,000
OX2= M2 23t A XIE 4,000,000 14 4,000
SEA2 XE 88,000 0 88,000
= 24,000
Al 64,000
308 MXIHHSOIH 88,000 0 88,000
= 24,000
Al 64,000
06 W=I|20UeE2x= 88,000 0 88,000
O33=M2 s + 88,000
PEHMANSZS 2 54,000,000 14 54,000
= 12,000
Al 42,000
DEAdT M2 34,000,000 14 34,000
= 12,000
Al 22,000
St Al BHESID| AL 10,000 0 10,000
307 2120l A 10,000 0 10,000
04 BIZHAAIE X 10,000 0 10,000
Ogh Al & 2 0] MEXE
10,000,000& 14! 10,000
HE2IZH(AMEEAMZ) 57,172 79,251 A22,079
gl 41,608 43,885 N2, 277
23l 41,608 43,885 N2, 277
101 1A H] 38,048 40,285 N2,237
01 E= 34,242 36,479 N2,237
OAt 2R+ 7,457 3 %1421%300A1 2+ 31,320
Oxge2R=¢ 56, 1753 x 121 %52 2,922
02 JIEt&E 3,806 3,806 0
OANZt22R+2(HE )
6,342 x221«300Al 2+ 3,806
203 ¥R =&l 3,560 3,600 240
02 HEIIAHRF=LHI 560 600 240
OFJINAHRF=AHI 40,000& = 142! 560
04 RA2SLRFLH| 3,000 3,000 0
ORM2ZILE=LH 250,000& ~12& 3,000
=34l 15,564 35,366 A 19,802
Jl=&Hl 15,564 35,366 A 19,802




SM: NEEAR
By HHSAAL(ANTEHD)
chel: |2 Y|

SN EY O (BH) - MRAY - BLS 0l &k o Bl
Gil &t 0
201 LBty 12,684 32,486
01 AFR 22| 12,240 32,042
O1 Et==ZH| 7,200
DEMZE =l 600,000& = 12& 7,200
O5 =&l 5,040
Dot 522 7,000 x201 %302 x 12 5,040
02 22294 444 444
o1 3322 % AMA 444
PEUHEAMNER 23,0003 +x12& 276
DRdgsz 14,0002 x12& 168
202 O4H| 2,880 2,880
01 =LA b 2,880 2,880

OJl2g =80 240,000& «12& 2,880




